abs-fifo!l40

abs-fifo{i:1}(C;T)(es,In,Out)
=qef Vi:C.
3f:{e:E| abs-R (i,e)} —{e:E| 35:C. (abs-S (j,i.e))}
()\e 35:C. (abs-S (ji,e)) «—«— f—— Ae.abs-R (i,e)
& (Ve:{e:E| abs-R (i,e)} , j:{4:C| abs-S (4,i,f(e))} . (Out(e).2) = (In(f(e)).2))
& (Ve, ¢':{e:E| abs-R (i,e)} , j:C.
(abs-S (ji,f(e))) = (abs-S (jii,f(€'))) = f(e) c< f(e') = e c< €))

clarification:

abs-fifo{i:1}(C; T')(es,In,Out)
=def Vi:C.
Jf:{e:es-E(es)| abs-R(C;0ut)(i,e)} —{ees-E(es)| 3j:C. (abs-S(C;In)(j,i,e))}
(antecedent-surjection(es;\e.abs-R(C;0ut)(i,e); e.35:C. (abs-S(C;In)(j,i.e));f)
& (Ve:{e:es-E(es)| abs-R(C;0ut)(i,e)} , j:{j:C| abs-S(C;In)(j,i,f(e))} .
(Out(e).2) = (In(f(e)).2) € T)
& (Ve:{e:es-E(es)| abs-R(C;0ut)(i,e)} , e':{e:es-E(es)| abs-R(C;0ut)(i,e)} , j:C.
(abS S(CsIn)(j.4,f(e)))
= (abs-S(C;In)(4,i,f(€")))
= es-causle(es; f(e);f(e))
= es-causle(es;e;e’)))
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